

## Réponse énigme 1b

$$\text{Fleur 8 pétales} + \text{Fleur 8 pétales} + \text{Fleur 8 pétales} = 24$$

$$\text{Ours avec nœud} + \text{Ours avec nœud} + \text{Fleur 6 pétales} = 26$$

$$\text{Nœud} + \text{Ours avec nœud} + \text{Fleur 6 pétales} = 21$$

$$\text{Nœud} + \text{Ours avec nœud} \times \text{Ours sans nœud} = ?$$

Fleur 8 pétales = 8

Fleur 6 pétales = 6

Ours avec nœud = 10

Nœud = 3

2 nœuds + ours avec nœud et fleur 6 pétales x ours sans nœud

$$2 \times 3 + (10 + 6) \times 7 = 118$$

